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General Instructions :

30/1

(1) All questions are compulsory.

(1t)  The question paper consists of 30 questions divided into four
sections — A, B, C and D. Section A comprises of ten questions of
1 mark each, Section B comprises of five questions of 2 marks
each, Section C comprises of ten questions of 3 marks each and
Section D comprises of five questions of 6 marks each
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(iti) All questions in Section A are to be answered in one word, one
sentence or as per the exact requirement of the question.

(iv) There is no overall choice. However, an internal choice has been
provided in one question of 2 marks each, three questions of
3 marks each and two questions of 6 marks each. You have to
attempt only one of the alternatives in all such questions.

(v) In question on construction, the drawings should be neat and
exactly as per the given measurement.

(vi)  Use of calculators is not permitted.

qmarg [Eer ;
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(i) a4 g9 Sifard & |

Gi) TG IT-79 5 30 ¥99 & Sl 9% @S] — ¥, T, § AR T ¥ fawfT & |
GUE 37§ g Y7 8 590 @ I9% J99 1 3F F 8, @ T § gia yI7 &
A @ 5% 537 2 35 &8 @e g i eq 97 8 99 @ 9% 599
T3 HF T AT T F U T8 T8 G 9% F97 3 6 3F & |

Giii) @Y€ 3 § JAF §99 & IW TF V=, UF T 39l JIF F TVIRATAR
fear s G&ar & |

(iv) F7 F97-77 ¥ faoeq 781 8 | FefT 2 3 ard % g7 &, 3 3@ ant
gv & qor 6 3H# At @ FvA R fA%ey o7 13 & 1 oF & yea
¥ aysl Fa UF [dHeT & FT 8
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SECTION A
@ e A

Questions number 1 to 10 carry 1 mark each.
Y97 G&IT 1 § 10 % I9% 597 F1 1 3% 8 |

Find the [ HCF x LCM ] for the numbers 100 and 190.

sl 100 3R 190 F AU [ WeoH TWUEdE x EGH HWIYEd | H OWE 3|
FiferT | _ : :

If 1 is a zero of the polynomial p(x) = ax2—3(a— 1)x — 1, then find
the value of a.

I | px)=ax’-3@-Dx-1 H @ YIF 18 @ a & 99 I
HIfeTT |

In ALMN, ZL=50° and £ N =60°. If ALMN ~ A PQR, then find
)il

ALMN # s L=50° 90 £ N =60° 2 | I A LMN da1 A PQR @9&9 &,
a £ Q I & |
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If sec’® (1 +sinB) (1 —sinB) = k, then find the value of k.

~

2 sec?0(1 +sin0) (1 —sinB) =k, @ k F 99 Fd T |

If the diameter of a semicircular protractor is 14 cm, then find its
perimeter. :

qﬁ@ﬂéﬁﬂﬁ%ﬁﬁmmﬁé,ﬁmqﬁmwmu

Find the number of solutions of the following pair of linear equations :
Xx+2y-8=0
2x + 4y = 16
frr o e gm & gell @ @ J| F
x+2y-8=0
2x + 4y = 16

Find the discriminant of the quadratic equation

3/3x%+ 10z + V3 =0.
feoma Tl 343x2 + 10x + V3 = 0 I Ffase 3d HfT |

If %, a, 2 are three consecutive terms of an A.P., then find the value

of a.

ﬁ%,a,zﬁm%%mwwiﬁrammwaﬁml

In Figure 1, A ABC is circumscribing a circle. Find the length of BC.

3 PiT.O.



10.

11,

12.

13.
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A 1 ¥, 39 F 9T AABC 8 | BC &I @R @ HIT |

Two coins are tossed simultaneously. Find the probability of getting
exactly one head.

amﬁw-mmmﬁlaﬁﬁﬁmﬁmﬁamﬁmﬁm

A HS |
SECTION B
Qs «

Questions number 11 to 15 carry 2 marks each.

¥99 G&I 11 § 15 % 9% 599 & 2 3% & /.

Find all the zeroes of the polynomial x> + 3x% — 2x - 6, if two of its
zeroes are — /2 and /2.

TWR x> +3x2-2x-6 & T [ ¥ H9C, I 396 F YTIE  — /2

_ﬁmﬁﬁl

Which term of the A.P.- 3, 15, 27, 39, ... will be 120 more than its 21%
term ?

TR 49 3, 15, 27, 39, ... amaﬁwqawaé%méwa@ 120 31 & 2

In Figure 2, A ABD is a rlght triangle, right-angled at A and AC L BD.

Prove that AB? = BC . BD.
D

Figure 2



w5 2 ¥, A ABD UH e e 8, e £ A=90° 91 AC L BD % |
&g sisT f§. AB2 = BC . BD.
D

STFIT 2

(2+2sin0) (1 —sin 06)
(1+cos0)(2—2cos0)

14. If cot 0 = %5—, then evaluate

OR

Find the value of tan 60°, geometrically.

P (2+2sin0) (1 -sin 9)
to=— @& @ H AE FIfST |
A 50 8 d (1+cosB)(2-2cosH e

AT

SHfd g1 tan 60° &AM A SHIST |

15. If the points A(4, 3) and B (x, 5) are on the circle with the centre
O (2, 3), find the value of x.
afc fg A (4, 3) a1 B (x, 5) TH g0, fowa &% 0(2, 3) 8, W fom &, @ x
& HE Fd HiNC |

SECTION C
Qs |

Questions number 16 to 25 carry 3 marks each.
J97 G 16 T 25 7% JA9% 9 F 3 3% & |

16. Prove that 3+ +/2 is an irrational number.
fog AT f& 3+ V2 T sufdm e 2 |

17. Solve for xl and y :

ax by

—b-—?—a+b

ax — by = 2ab
OR

30/1 e PO



18.

19.

20.
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The sum of two numbers is 8. Determine the numbers if the sum of their

: e
reciprocals is —.
15

x @ y & fou g ST

g—b—y=a+b
b a

ax — by = 2ab
gt
fré@rﬁmzﬁvﬁasélﬁﬁsﬂéﬂaﬁ%ﬂaﬁwm%aﬁé@r@
| I |

The sum of first six terms of an arithmetic progression is 42. The ratio
of its 10™ term to its 30" term is 1 : 3. Calculate the first and the
thirteenth term of the A.P. :

@Gﬂiﬂt%‘r%meqﬁwﬁﬂﬂa?fﬂélsﬂ%w%qawéoﬁmw
IO 1:3 % | T NI HE F UGN UG 71 al@al 98 ¥ Hg |

Evaluate :

% cosec? 58° — % cot 58° tan 32° — —g— tan 13° tan 37° tan 45° tan 53° tan 77°

b1 A 5 | L

% cosec? 58° — —2— cot 58° tan 32° — g tan 13° tan 37° tan 45° tan 53° tan 77°

Draw a right triangle in which sides (other than hypotenuse) are of
lengths 8 cm and 6 cm. Then construct another triangle whose sides

are > times the corresponding sides of the first triangle.
muﬁmﬁwﬁmaﬁﬁqﬁmﬁgmﬁ(ﬁ%aﬁrﬁw)BﬁmGﬁ
daE H A | T I B F A i e qEd ggd 99 Y s &
I qee & gﬂ:ﬁ'&ﬁl



91, InfFigare 3, AD L BC and 'BD = % CD. Prove that

2 CA% = 2 AB? + BC2.
A

-
D
Figure 3
: OR
In Figure 4, M is mid-point of side CD of a parallelogram ABCD.

The line BM is drawn intersecting AC at L. and AD produced at E.
Prove that EL = 2 BL.

D E

B C
Figure 4

sk 38, AD L Bcwgmécn%.amaﬁmﬁs

2 CA2 = 2 AB2 + BCZ,
A

30/1 7 ' P.T.O.



22.

23.

24.
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a4 ¥, =R IS ABCD & ST CD & He#-fag M 2 | @1 BM
# L R Weede Fwt & aar AD @ sgn | E R fiort & | fag fife
EL = 2 BL.

,AC

A D E

B C
ST 4

Find the ratio in which the point (2, y) divides the line segment joining
the points A (-2, 2) and B (3, 7). Also find the value of y.
T8 U ¥ e e o (2, y), s A (-2, 2) 9@ B(3, 7) @ fred
A WErEve i fawfad war @ 1y & AW f 39 ST | |
Find the area of the quadrilateral ABCD whose vertices are A (-4, — 2),
B(-3,-5),C(3,-2)and D (2, 3).
TF Tq4s ABCD & &a%a a e e 3 A (-4, —2), B (-3, -5),
C@3,-2)am D(2,3)% |

The area of an equilateral triangle is 49+/3 cm?. Taking each angular
point as centre, circles are drawn with radius equal to half the length
of the side of the triangle. Find the area of triangle not included in the
circles. [Take v3 = 1-73]

OR
Figure 5 shows a decorative block which is made of two solids — a cube

and a hemisphere. The base of the block is a cube with edge 5 cm and the
hemisphere, fixed on the top, has a diameter of 4-2 cm. Find the total

surface area of the block. [Take 7t = %g]

Figure 5
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25.
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F ST F I Sk aUa Bed det g9 @i T E | BN % 39 9m &
BT JId HT S gAl F R W 2 | [V3 = 1.73 =)

o
G 5 Gt =A% & I — UF U9 997 U A § firetel o @ | sedi
F SMYR 5 W ST F AT € qUT TR FW o A H AW 4.2 W B | =Ah

wwq@a%wﬁﬁml [n:% i)

_ peres
Two dice are thrown simultaneously. What is the probability that
(i) 5 will not come up on either of them ?
(i) 5 will come up on at least one ?
(iii) 5 will come up at both dice ?
3 U B TE GG IS T | WS 99 Fifee fE
(i) 5 Rl off o8 W @ awm |
(i) 5 FH-U-F9 TH T T QT |
(i) 5 3 U R @ |
SECTION D
Qs T

Questions number 26 to 30 carry 6 marks each.
¥99 G 26 § 30 7% FAF Y9 F 6 3F & |

Solve the following equation for x :
9x% — 9(a+b)x + (2a + 5ab + 2b2)= 0
OR

If (- 5) is a root of the quadratic equation 2x% + px — 15 = 0 and the
guadratic equation p x* +x) +k =0 has equal roots, then find the
values of p and k.

-9 P:T.O.



27.

28.

29.
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fr= et & x & fou ga FifST .
9x2—9(a+b)x+(2a2+5ab+2b2)=0

AT
afe g wlietor 2x2 + px — 15 = 0 & Th g (- 5) 8 a4 fgema gt
px2+x)+k=0% Jd TAF &, @ p T k & AH ¥ HI9C 1

Prove that the lengths of the tangents drawn from an external point to
a circle are equal. L
Using the above theorem prove that :

If quadrilateral ABCD is circumscribing a circle, then
AB + CD = AD + BC.

fag FfT 5 39 & ft ol fag ¥ 99 ® @1 © WY tEeil # et
TR Bt & |
S T T  a e e R

afe TF g9 & Ui IS ABCD 8,
AB + CD = AD + BC.

An aeroplane when flying at a height of 3125 m from the ground
passes vertically below another plane at an instant when the angles of
elevation of the two planes from the same point on the ground are 30°
and 60° respectively. Find the distance between the two planes at that
instant.

& % Ve 4 ¥ 3125 . i FUR W ITal g1 UH TR S & ™ @
SR TRA 2 | 3% 39 T 9 W B g 8§ F et & SaEE Sm
FAIE 30° 3R 60° € | % I THY T g9 WSl F A9 B gl T HIC |

A juice seller serves his customers using a glass as shown in Figure 6.
The inner diameter of the cylindrical glass is 5 ¢cm, but the bottom of
the glass has a hemispherical portion raised which reduces the capacity
of the glass. If the height of the glass is 10 cm, find the apparent
capacity of the glass and its actual capacity. (Use n = 3-14)

Figure 6
OR

10
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A cylindrical vessel with internal diameter 10 cm and height 10-5 cm
is full of water. A solid cone of base diameter 7 cm and height 6 cm
is completely immersed in water. Find the volume of

(i)  water displaced out of the cylindrical vessel.

(11)  water left in the cylindrical vessel.

[Take T = —2721

UF S faskdr oA WES & fau emHfd 6 H TwiT MU e & wEn #Xar § |
JoHER T &1 o= =g 5 I 8, dfed firome &t frach gag & sl
FFHR ¥ TR I3 T R R frome # oo W o@ St @ 1Ak frew @
o 10 ¥ &, @ freme 9 s wf@ oo ardfes e | e |
(n = 314 HIfSQ)

e -

TS SAER a0 (o =i 4| 10 9 991 $9 10-5 ¥ 7, I 9@
TR TE I VE, G R =W 7 ¥W g4 AR 6 96 8, A
YHR TN ST ¢ o9 0 9% T W1 2 | 99 FINN R SoeR ad

(i) H g foraw g 9 e o
(i) o frar g o= T4 |

[n=$a'fﬁm

™
g
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30. During fhe medical check-up of 35 students of a class their weights
were recorded as follows :

Weight (in kg) Number of students
38 —40 3
40 -42 2
42 - 44 4
44 - 46 - 5
46 — 48 14
48 — 50 4
50 — 52 3

Draw a less than type and a more than type ogive from the given
data. Hence obtain the median weight from the graph.

fordt wan & 35 OOl & fafecdy wWaw & §99 39+ 9K f=fafad o e .

IR (fF %) ol 3 GEIT
38 — 40 3
40 — 42 2
42 - 44 4
44 — 46 5
46 — 48 14
48 — 50 4
50 - 52 3

IT% S ¥ AT B YR B a4 UG IR F AR W | s WE d
WA AR 4 SIS | '
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